2P0521K23 (DAY-2, FIRST SESSI0N

::;c:: 55 Aol S )
P . 10.30 ood 11,50 o Sdnt B-4 Y
0825086
bAR), Chla) w!fﬁz%m“::ﬂﬂ u::}#a ﬂjzlﬂ o m‘_mm‘ b
T oD | 70 haane 60 60 e I l \
==0

Host) chypRORDOS B 2 4 TA fotty nott o8, 10,30 s mo¥d £AORNIES
e STV Ma! SO0 L 2o wre, g mi fh wodt e HeL oM QAN Sitrrmn s m o amy,
i oy R RO O 0, e, e oo iy WO OO T EIRS Meghoorean wovetens, ’
= =adod SRFT drer T B mosjonmy mrore AReo'E] SLud uldonde,
. h.oowo. eu3t 380D dmnd srins mnod Zanr T ST,
Smaden
L bocer. wmdd zMobd shoosmnms desor SRR, IGMOD [ medmdmot | wedmd.
2. =haedde dot 2. 1040 1 urbad, ugmddﬂ.n.
* TF Dol LOMASOD Mer um, IlobRIt. :
» E S2fon wind o TR v, daed Tt d DO e L.ooed. wuan Sidend matn

SROUOR AR,

o N

L g uencos SIGNS AND SYMBOLS nvey, ted odotq 293 AT, LriDE TE 0 e Sttt ‘

T8, BASGD LA 60 TAMSCH, T e 4 ua wok IO B3I, J3ndcs it daa mes L valieh
UEOTW S TOMIRT Lank wugTTR wol SR,
Shpode der socd . 10,400 o o, ifcd LUMNOYWS ket S0 & IF Shong cmgoe Tune

SGEmhgch st fom worg vpm Foch TG STo0 ciREte Dlionivy taomaehdabt ooty
suEzandacm, & brd wngd dqmeds SR, uOoecorissRich Hosd Locuo. wiEs Zidchq

weEoTL mpoRTg .
e %5 eudtTE, b.ooer wgd Hifolg ot B ToZom Snot R

4 @8, BsoYR TEA eRDRERD
FouopAT HENm, MO YER TED mahoh MmO WMo AFR00 ZorRnr WO,

Tocdng 8 3 7,=0red WRONG METHODS

EﬂBREEI'METH“%_@@@ @@@’ @..®
P00PPOOO VOO |

5. @ L.oooT, (a0 Mlabm, MY SR 0 LEY XSG, B MRE,

b.oo.u0. 030 Tifend wuBdmmt aybd Skt :
£, Z3fang AN DO IS, U5 SuRg wwdoletk, L.20T. B30 S, g, wcdathidd,

Badad der wogd . 1150 YO BO3T VLELWZTI, AP

]
T
§, L.oourt. wid Hifcnd, des0 Shedmonod chgeidong AL
g, ds3a :h.-wnh e ToRE, Fden (min 22) 3, mrod suwbacd dunod chgoTdahd,

Byeg wopts eqpern ey spmios 90 ), Scie JeatHl S

wﬁiﬁ domuahch. omcds S tonbwon) WX

Yo
pmﬁ EEBG




PHYSICS

K The lorque acting on a magnetic dipole placed in unlifnmi magnetic field is zero, whe, the
angle between the dipole axis and the magnetic fieldis . 4
(A) 60° (B) 9g° (C) zero (D)
[f Ihﬂ d.lp Al

{ ; -5
The hﬂrfzﬂ-:rntﬂl component of Earth’'s magnetic field at H_Piﬂﬂﬁ 8 3 3 101
that place is 45, the resultant magnetic field at that place is 3
D) — x 105 T
8

3
(A) E"E x 1075 T (B) 342 10T (C) 3x10°T

I A Proton and an alpha-particle moving with the same velocity enter a uniform magnetic
field with their velocities perpendicular to the magnetic field. The ratio of radii of thej,

circular paths is
(A) 4:1 (B) 1:2 (€)2:1 (D) 1:4
4 A moving coil Balvanometer is converted into an ammeter of range 0 to 5 mA. The

galvanometer resistance is 90 0 and the shunt resistance has a value of 10 €. If there are 50
divisions in the gﬂ]\-‘ﬂnﬂmﬂ:r-‘l‘umtd*-ﬂmmﬂer on either sides of zero, its current sensitivity is

(A) 2x 10 Adiv  (B) 1x10° diwsa, (C) 2x 10%°div/A (D) 1 x 10° A/div
3. A positively charged Particle of mass m is passed through a velocity selector. It moves

horizontally rightward without deviation along the line y = —2-%'{ with a speed v. The
9

electric field is vertically downwards and magnetic field
the electric field is switched off at t = 0, The angular
nm

is into the plane of the paper. Now,
momentum of the charged particle

a!:wl:ﬂ.lt.4::rrigi.nl:l;ﬂII= — is
gB
Ay
= X x x X *
=y
% .0 o g
0] R R EY RS A
% x x
i x = X
- L R
mE? mE? 2mE?
A) zero B) — (C) — ;[
(A) By = ) 5 o) =5

The Curie temperatures of Cobalt and iron are 1400 K and 1000 K respectively. At T = 1600 K,
the ratio of magnetic susceptibility of Cobalt to that of iron is

7 5 I
Sl )= s (D) 3

e

e
z
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PHYSICS
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ylemcs E@E' E&ﬂ!‘:ﬂ:‘ guTTRCn 3 X 10°3 T 4hsd. & Fi"'-ﬂﬁ Toodecld umi(aed) 45° wd & #&#:I
bl TR0 9133 ehil.
©3%10°T (D) 3 x10°T
J2

(A) 35 %105T  (B) 342 x107°T
2
vocfe Sericsd), ORLITH worh speind’ S0 0mD YOR 800 Wodead vormn eao S

aobeod ZSeamodd. By & deob XBT BTV BRI
(A) 4:1 (B) 1:2 (C) 2:1 (D) 1:4

tomh 8 DY M, udsnmdnt 0 ctoedd § 0.8odel0’ (mA) mR,4 RS AT’
uh ToSIFATNT, TR, CHRERTIE CRtE 90 Q shth ©oU sEoE Tamwey dRtTs)
10 @ FPo,mNG. st TONIFE MORAERIIGG, dedd Rdunvd 50 oo

gRrinend eot S Rodfemmbeododn
(A) 2x 10° Aldiv. (B) 1 x10°divA. (C) 2x10%divA (D) 1 x 10° A/div

FrRgEen GRtsZmRNchs iad Tod m BN, esc St odymd olost SRS FRCloRRNG.

E@M@W&MWHE=%&Mv wtactr dRbE, L8
q
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T =1600 K 59 Zateme] 5% sy mostod Feosdrdan eomdsy
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when the primary 15 connected to 220V, 50 i,

An ideal transformer has a turns ratio of 10.

7.
ac source, the power output is
(A) equal to power input (B) zerd |
D _I__lh the p.c:wer input
(C) 10 times the power inpul (D) 0 | :
tude of emf induced in the
Kﬁ/ The current in a coil ¢changes from 2A to SA in ﬂ.;ls: The magn!
¢ of the coil 18 (D) 100 mH

. £ - inductanc
coil is 1.0 V. The value of self-induc (©) 1.0mH

(B) 10mH
is allowed to fall down freely,

(A) 0.1 mH
4 direction .
east-west di 10-3 T. The emf induced in

A metallic rod of length 1 m held along
agnetic field By = 3x

91‘

Given horizontal component of earth’s m

the rod at an instant t = 25 after it is released is
(Take g = 10 ms™) 3
(A) 3x 104V (B) 6x 1073V (C) 6x 104V (D) 3x107V

(18] A square loop of side 2
shown. The front edge enters the
depicts the induced emf in the loop ?

tant speed of 2 cm 5 as

m enters a magnetic field with a cons _
> field :EI:‘. = (s, Which of the following graph correctly

(Take clockwise direction positive)
. 2em ¥ X X
R R
x x xB=05T
M) KT
X X X
2 & 10 cm > 3,
g i v
(A) 1 r\ {BJ ] '
] 6 > 0 6 >

. In series LCR circuit at resonance, the phase difference between voltage and current is
n
(B) 3 (C) zero (D)

T
(A) 7

i




7.  woth eoEF oo Hodsreg e ubes 10 end. goed Rxbeodsy 220 V, 50 Hz

Q.M. :l!.imldmahmﬁ anre EbE,FR)
(A) b T, FY ADRONYT.

(C) gy mDEFE 10 s, whebed,
st 0.3 Sogoriv, 2A 8ol SA 1t uomrgd. en 1.0 '
(o e Tedo Fededod P,

(C) 1,0 mH (D) 100 mH

Obale dpemd TovEy doit Reven BuD. i plerte

Q, ROV, doirt weddeo Bt = 25 Fodg euolmrs

(B) Ard
(D) o8 T — Ty wNchIe

§.  toch e, OIS DEY,
oo, s o) Seorfodnriod

(A) 0.1 mH (B) 10 mH
9, har- :f.gf.iw:mﬂmn LasthE | m o
gaetecd swzoon By = 3 x 107° T &hg
20 Ea‘mﬂ:ﬂm{g 10 ms™2 oot Sricdes)
(A) 3x 107V (B) 6% 107V
10. w30 Spconcdos 2 em maamd:ﬁ b
Lole U Zfedbadd. Mo t =

(€) 6x10°V (D) 3= 107V
oty wPmmcs Borddoly 2 om 57! 4 Serided

Zeodmon 2,3 Peos wus WIS LEE!Q o 7Y HOOIRN HAEIEE ?
(Z8pdectd DER3 GimgpaRn Friciodex)
Tem X X *
[ g
x % x B=05T
IR L g
» ® x
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20107 \,.'“ - 2x 10 Y e s
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: 6 o bt
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12.

13.

Lo S slmlRTERD % SHaerpalsl Robasod Erolins Mmoo minad. eoid dorshoisd
mechd f and. |oEy, % Saertsin pobmvot Beold RIDHY, har Sosbhoand. BTog,

rrockRrls ZonshaRcs deve wcienairdady

(A) 400% sastotrroge! (B) 300% sz (C) 400% s (D) 300% sncbodrrind
10 em RorbEATIME Lol Led XAt e soedd | ms™! sericd) ot modh s 4
e WomHAd, SHRATT o8 deoghot A.&0t. CRtDY Shoopn wod Zhnce)

ind | ms~! Senod, wozEd.
(A) 20 (B) 5 (€) 10 (D) 15

14,  toch ofdess ROF SRGLELE Sedt edvsy e Serirst
(A) sREwd Zdonnen P sgss Aenaaeh DSecid Soonny Serirvs ooz,

(B) smaood STonstne e $onnert FOTNCOES.
(C) mEpaod stonaniner By Oseols Fdoriner sash aog.
(D) sRgod Soorabonner das |, O; 3ecdow Soorinert Sy,

15, t.och o3 LCR shoBed tubiy Zatmgiodo wod vrdooh detarioing AC aus soeud
dnepeats wsidr Ko clecom LHLRTDS MEF IR, 1ETY, FROTTING. =hgd LCR
xoed Shodud Q romeos)

AZ (N
A . G
E—----------a---g-- . "E'"
T TR
(A) 5 (B) 1 (C) 0.4 (D) 2.5

16. .00 ST Fodec STow ST 4y e wos i@ﬁ#ﬁﬁ:@#ﬂm Faas)
(A) 10~% ms™! (B) 10® ms™ (C) 107% ms™ (D) 10° ms™!

17, tuocd> thom SR, S9N LRI TRYONDY, CXRERIUR ROg) oty RAED ?

(A) &x oFres. (B) D g (C) Paxy wHFe (D) Me¥o 8 Tomat

18,  dadioRncs S0 TI0EFE sRgl e, o LR £ T (o) Haesy TOSRNToecs 9
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L;:./ An unpolarised Jj : . :
planes parallel to each other. The intensity of light cmerging from ““ﬂlnd
! '
-

ter increases, the

i i ct parame
in the Rutherford's alpha scattering experiment, as the impact P
. m
(C) remains the same (D) 18 always 90 ‘
of the emitted

scattering angle of the alpha particle
(A) decreases (B) increases . velength
Three energy levels of hydrogen atom and the corresp D?-:::,E - i R
radiation due to different electron transition are as 5hu'ﬁ'ﬂ-E1 NN 'f:' i ¥
r _lj'-:l g :'"n | l = vi' =T
" ﬁ IE_ -L_ H'.r- ; r"r- EI"".-' Ly 1 1" i_.l. L |
2 3 L Y S HPR
A 2 Yopl
8 ST Ej ek atlc "
e LR LY. S S
(B) A, = (C) A4 Ar+ig L N +A, .

Gt b AL+ A3
g

L

ght of intensity I is passed through two polaroids kept one after the other™
5

T

with their
R it i 3
polaroid is T The angle between the pass axes of the polaroids is = P
|

(A) 60° (B) 30° (C) 45° (D) 0° 2
In the Young’s double sjt experiment, the intensity of light passing through each of the two
double slits is 2 x 102 Wm=2. The screen-slit distance is very large in comparison with
slit-slit distance. The fringe width s P The distance between the central maximum and a
point P on the screen is x = 3 Then the total light intensity at that point is
(B) 16 x 10?Wm=2  (C) 8 x 10-2Wm-2 (D) 4 = 10 2Wm2

matic light of wavelength 662.5 nm. The number of photons

'.

LA

(A) 2% 102Wm2
A 60 W source emits monochro
emitted per second is

(B) 2 x 10%* (C) 5x 1017

(A) 5 x [0 (D) 2 x 1020
electric effect the observed variation of stopping potential

In an experiment to study photo-e
with frequency of incident radiation is as shown in the figure, The slope and y-intercept are
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20.

21.

12,

24,

(A) ga arbsd (B) a:'-tqlrug::!
(C) wEmregbe, (D) conemnias 90° oo

= - Wi -
W A=l thy (B) Ry = i (©) A, s () 4= Jdy
Tig

| 2eg¥ aroDTdS BERDD LVER), LORE Soed) Lodted Autnmecdy HebEeT), Lt
o> Fpepedfiv ALE LD, J0BN MmN Hacuts Uil ses <

wd geentoodr e T* LBV SEOHE drely)

(A) 60° (B) 30° (C) 45° (D) O°
(o' wla’ g o] %Mﬁ-ﬁﬂﬂ'ﬂ gﬂfﬂfﬁﬁqﬁ Palare vl Q}Iﬂdﬂﬂﬂﬁ? Td gododh thaes rhanmis Uods

a:,-q}s-:m 2 x 1072 Wm2 =nd. ol - rio@ uw:'dd Brednmn rioa - o clodrid usd
aﬁa&md. S0t eneg P o, ool sHedS Lot ey P oy deod nqu sddd tro

x=0 ond. omoid ¢ Lotbag YLoLRIOS Lid) ES Sesy 3ot

3 i
(A) 2x 102Wm=  (B) 16 x10°Wm™? (C) 8x102Wm= (D) 4 x 10-2Wm2
RO, F 60 W =ohs woth wvidd ©9T0 662.5 nm & ossirderod TR BeoAeEd. e

2.0t Fdoarrt deokembs geenany Nosd,
(A) 5 x 10% (B) 2 x 10%° (C) 5 x 107 (D) 2x 102
T8 QEYF TOMNELE ef oL FolRMng, Jeond Jus ¥ TS Ao eI

LERTEDR), YT ZROAT. QGT TR A y-gerE BRI
o+~

Potential
(Vy)
% »
Frequency of Incident Radiation (v) o
(A) v b (B) hv,~hy, (€ b _hve @) 2, v,
B o e e e
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.. 50 Hz alternating Voltag
Tt rectify 3 j
L.f}S( A full-wave rectifier with diodes D, and D 18 used (S Th

diode D, conducts times in one second. - (D) 25
(A) 75 (B) 50 .

Py

l‘r - . —

ﬂ'lﬂ_ﬁ it.-/:r |_.r5|. B ?{E‘ﬁﬂ?
WIAIB|Y|m®[a El'r’f[— TS 1 [ 1
] R S e e
NN Lo, HEEEE. 0 [ 177
[0 1 :] RMEGE =t
Lo o715 o o S ) 150 S 200 1]

.,2’-/ The energy gap of an LED is 2.4 eV. When the LED is switched “ON’, the momentum o
the emitted photons is

(A) 1.28 x 10°! kg m 5! (B) 0.64 x 10" kg.m.s™!
(C) 1.28 x 102" kg.m.s~! (D) 2.56 x 107%" kg.m.s™!

LJG., In the following equation representing f-decay, the number of neutrons in the nucleus X is
210

g BIoX+dT4 _'leg
(A) 125 @ 84 1#%0) 126 {}?{m

W A nucleus with mass number 220 initially at rest emits an alpha particle. If the Q wvalue of
reaction is 5.5 MeV, calculate the value of kinetic energy of alpha particle.

(A) 7.4 MeV (B) 4.5 MeV (C) 6.5 MeV (D) 5.4 MeV

I A radioactive sample has half-life of 3 years. The time required for the activity of the
sample o reduce to = h ofis iniial value s about

(A) Protons (B) Holes (C) Free electrons (D) Tons

¥ . SerrRemwn
: Pl




25,  diclsemD, MDﬁmmLﬂﬁ.mrgﬂRﬁU’m‘h]mmm e
TeRirod Q6 3 S dinelnd, G sodrea D, LOTOMOBR st .
(A) 75 (B) 50 (C) 100 p 5 Dy 25 =

26. M‘fﬁmﬂmﬂ' = Wt Sk qln d_mtq_uq

Be——0-1UUL_L
W[A]B][Y|m[a[B[Y|©[ATSB YIo[Als (Y]
i I L [1 ] 2 o [ SRR
Bl A S 1 1o 1% BEEER
0 - sl B 01110 D EE
0 |0 | o [o] o0 SARREE S EFRERER
27. totd LEDOD 2% 8035 2.4 eV wrt. LEDS " on” SRamn devdentys gy
TosSenia)
(A) 1.28 x 1071 kg.m.s! (B) 0.64 x 1077 kg m.5"
(C) 1.28 x 1077 kg.m.s~! (D) 2.56 x 10?7 kg.m.5~

28. mﬂ-umm&x a%g,mgm S, 10 Xosd,

200

(A) 125 (B) 84 (C) 126 (D) 127
29, wCoind RYe A3chOm mob Kosd, 220 Y 1ot AR Jole, wo ¥nE) BTG, S
godody Q SRy, 5.5 MeV ehmar, S Ird Womided SRy,d8; Jnuet SR,

(A) 7.4 MeV (B) 4.5 MeV (C) 6.5 MeV (D) 5.4 MeV

30, euoch SCaben ST (FREO) SpRr ok, 3 Selr SN, Tt shiey Hithbeudol: o),
gash erivd temd Tabod :

: (A) 15 S=Fnsh (B) § S=Fnist (C) 10 SErrist (D) 7 S=Fns

31.  p-n %o Bodmerh Sid Tl SIRCOmRN ereaRs Fodedd, ol ST S s B0 2
(A) pemaricc  (B) Togrih (C) HZog admanisd (D) Lotnsonth
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38.

A hE” of mass ()2 RE i t]'l!'ll'l-“'n vertically down from a h.:]Ej'HI of 10 m. It collides with the

."f.”?’ and loses 50%, qr IS energy and then rises back to the same height. The value of its
initial veloeity jg

(A) 196 mg-!

The moment ﬂriﬁﬂﬂjﬂ. ofa rigid hUd} about an axis
(A) depends on the Position of axis of rotation. (B) does not depend on its size.
(C) does not depend on its mass, (D) does not depend on its shape.

Seven identical discs are arranged in a planar pattemn, 80 as 10 touch each other as shown in
the figure, Each disc has mass ‘m’ radius R. What is the moment of inertia of system of sis

: : o YR
discs about an axis Passing through the centre of central disc and normal to plane of all discs 1

(B) 20 ms-! (C) zero ' (DY 14 mg™!

R :
(A) 35 ET:_" (B) 85 Eg_ (C) 27 mR? (D) 100 mR2

The true length of 4 wire is 3.678 cm. When the length of this wire is measured usi
instrument A, the length of the wire is 3.5 cm. When the length of the wire is measus
using instrument B, it is found to have length 3.38 cm. Then the

(A) measurement with B is more accurate and precise.

(B) measurement with A is more precise while measurement with B is more accurate,
(C) measurement with A is more accurate and precise.

(D) measurement with A is more accurate while measurement with B ig more precise.

A body is moving along a straight line with initial velocity v, Its acceleration a is const

After t seconds, its velocity becomes v, The average velocity of the body over the g
time interval is

2 2 2 Z 2 2 - 2
at B 2at ) at ) 2at

A particle is in uniform circular motion. Related to one complete revolution of the par
which among the statements is incorrect ?

(A) Average speed of the particle is zero, (B) Average velocity of the particle is z
(C) Average acceleration of the particle is zero. (D) Displacement of the particle is zerc
A body of mass 10 kg is kept on a horizontal surface. The coefficient of kinetic
between the body and the surface is 0.5. A horizonta] force of 60 N is applied on the

(A) V=

 The resulting acceleration of the body is about

(A) 6ms? | (B) zero (€) 1 ms2 (D) 5 ms2

m-_! .-ﬂlil' i ‘hﬁmiﬁm-—* :
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34.

35.

e Toros 05 9N 60 N 3 noth 4aue
eootrtss S0 Seraegr BRT | ”
(C) 1 ms? (D) Sms™

IU‘ ;IJ'L mn'ﬂ:ﬁ'ﬂ_l i L P e L N oty e

1 = kg gEfonbotioy Lo ol LOLERN tW Sfoboend. e ded

e 50% o B0 eVrdRoms Srtidn o3od shovisd, sod udons el S
(A) 196 ms~! (B) 20 ms™! (Cy Rt (D) 14 me-!
] ms

2,000 %:;' oo, 35 EE0m BED ¥ nER LTI ;

A o L OobE AN sSuoozs. (B Ty A

(A) g=em =g e - ol ) B0 gl eduonadRine, .
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. ", 4 - g .

Lotde 0ma 1 §Emeod wgrvey Ssan SROLCDE, BE0g dorondhed desnmoohd. Baw

obeds ‘'m' GNG 35, R ehdd, momad @ HIoROLNS 6 narv dig worbing, mes

ZEreros e zeidud vowmhood wis dheed noi SHTY Sy 9

Gss

(A) 55 X (B) 85 mR- (C) 27 mR? (D) 100 TR

2
toch Sodod Fts VGiR) 3.678 Fo.foe. wnd. sruaics A 59 Zooh wosis e 3.5 Bo.00e. enhEt.

ot Sodom e SRR URD LUt B oG SRR 3.38 Bo.500, ehagd i,

(A) B cloon evoen msg‘;mu:! S soeasd add.

(B) A chood eeimen T Dusdwmo B ooty eV S Rod e,

(C) A coool ewicmn ey, 002 Torie e wd
(D) A coool &eTRn Zhedy Redod ach B choots LYt %:ﬂﬁ.ﬂ =g,
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. . the graph '
39. The P-V diagram of a Camot's engine 15 shown JT, |:I1i:b:3lr1;:fﬂ enclosed by the
of an ideal gas as working substance. From the grapt.

[The heat supplied to the gas is 8000 J]
Rty iy L
E] A g- _}{
EiE l 3
L - 4¢
J N ! E f
___'_._o-|—-—i|—'_|_'_|'“_'_.I
T3 15 078 S0 6D
SRL Wiem') ——F J
(A) 3000) (B) 1000 (C) 12001 (D) 2000
A0, When a planet revolves around the Sun, i]n gine::!ﬂjﬁ;t:al; planet
(A) kinetic and potential energy of the plane a oy :
(B) angular momentum ﬂbuutgt}l;e Sun and aerial velocity of the planet are constant
(C) linear momentum and linear velocity are constant.
(D) linear momentum and aerial velocity are constant. . : 1
whose Young's modulus Y =2 x 10! Nm~ has Poisson s

< A stretched wire of a material ‘ Lty
ratio 0.25. Its lateral strain €, = 10>, The elastic €nergy density of the wire 18
(C) 16x 108 Jm= (D) I x 10° Jm™

(A) 4 x 10° Jm™® (B) 8 « 10° Jm™?
Il hole at a depth of h from the

‘_ﬂ-’ A closed water tank has cross-sectional area A. It has a sma
free surface of water. The radius of the hole is 50 that r << J: If P, is the pressure
w

inside the tank above water level, and P, is the atmospheric pressure, the rate of flow of the

water coming out of the hole is [p is the density of water]

(A) mr’y/2gH
(C) nr?\2gh (D) mlngh+—~—M“*F }
& & a + p
43, :]tlmr;sme at 0 °C is mixed with 100 g of water at 100 °C. The final temperature of the
[Take L;=3.36 x 10° J kg™ and S = 4.2 x 103 Tkg k]
___(A)s0°C (B) 1°C (C) 40°C (D) 10°C
Space For Rough Work



40.

41.

41.

35,

t.oth sdReF i adboEs P-V 1B NN s oo dnelronied, ooz | slees woEr LRt
fodraaRi LR, P-V i shaOodoos Oyrer [shod soumend zoasg 5000 1]

1 L Lj 14
125 23 BTS20 &ds
Wiom' | —

(A) 3000 (B) 100017 (C) 120017 (D) 2000 ]
pooh I ARCDFS 08 Zudzhoen mERT N
(A) OB dom S0% ZuE Sdn :ar:rmrumgd
(B) Aeors ¥ 0EC dafead Zodenay) 0% NET anerer iy A TR,
(C). Cedecd Bosten morin desdeod Serisy LOTNES,
(D) Tesdecd Roser =3 Qxerar Serined ATTNCES,
SRICHULITOSS 2,000 oS0t TRET ccbort IRTREY Y = 2 x 10! Aa.av? ehc sud ol
S0t 0.25 T, B00 SRIF Qg e, = 1073 eshe3. Bodods 43T B8 TRogEede
(A) 4 x 10° Jm™ (B) 8 x 10° Jm™ (C)16x10°Tm> (D) 1 % 10° Jm2
Sordpha Reds CleMerd g Qyerary A sho, Lod St sed 3 ot h evdd wot A,
cogsiny SPATCANG. TogEs 85, 1 << E SNOOYE. Inoticdd woR, REOS FoeR T, 13T P,

SATL THT|IUT 133 P, NG, Jogt SuRvE D08 S00T ©osy (P <00t Reds mogE]

(A) w2 2gH (B) nﬁ\[gm&fﬂ (©) 7y2Zgh (D) mlstmm'“p Y

0 °C zomanscdooa 100 g ;{}amﬁ%m 100 °C mﬂﬁﬁ:ﬁ 100 g Reddnchnil
WAL, S0STOTN LVOLRTVS QoFrT wuxd - 14 ¢
[Li=3.36x 107 T kg™! a3 S, = 4.2 x 10° ] kg 'k~ axocdo =bricsa).

(A) S0°C ®)1°C | (C)40°C (D) 10°C
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q<<|Q|andr>>a The net force on

Hon the situation shown in the diagram, magnitude of shown are respectively

fhe free charge —q and net torgue on it about O at the instant
[P = Iﬂﬂ I8 the |;|'||-_|.l'|.|¢ m-:-menl]

I'F; T
|
i r
| 8|
*%F. @
& 0 0
p—a—fe—s— ;o
| I g ~ P
(A) —~——P4» __1 pg 4 =+ =k
4nep 12K Gngg 3 1 ®) dngg r° | dmeg o
I 1 A
(C) O (D) qu’ ﬂ;?

4S.  Pressure of ideal gas at constant volume s proportionalto .
(A) total energy of the gas (B) average kinetic energy of the molecules
(C) force between the molecules (D) average potential energy of the molecules

= A block of mass m is connected to a light spring of force constant k. The system is placed
tnsice & damping medium of damping constant b, The instantaneous values of displacement.
acceleration and energy of the block are x. a and E respectively. The initial amplitude of

oscillation is A and o' is the angular frequency of oscillations, The incorrect expression
related to the damped oscillations is

] _hi d? dx
(A) E= —kA2e ™= Bm—— 5 ey
2 L dte ot

(C) x=Acm cos (@'t + ¢) (D) @' = ’_k__i
m  4m?

Jf. The speed of sound in an ideal 835 at a given temperature T s v. The rms

: : speed of gas
molecules at that temperature is Vms: The ratio of the velocities v and Vims for helium E:d

OXYygen gases are X and X' r:spectivelly. Then % is equal to
5 2
@) |2 ® 2 © % ©® -
4 1
,gﬂt A positively charged glass rod is brought near uncharged ich 1
an insulated sn;m. IFthe glass rod is removed, the pey mﬁi?ﬁ::::ﬂiﬁﬂ?md i
(A) 1.6x1071°C  (B) Positive charge  (C) Negative charge (D) Zero

m Space For Rough Work
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o 8 s ]
l Pq - 1 Pd a {E‘} 1 P’E]ﬂ 1 Eﬂ..ﬁ
T Kk BED e ok 7
(&) dnep r° . dngp ¥ | neg 3V dmeg o2 -
L paay L PG @ ——Pa_1 pga
{-C} 4HED r3 .4“5“ rl k 4?H;n r: k‘ 41-:&0 r:] 1
ﬂmmamrmnmgd.

4T ME BR00E UOEF Hi edon .30
(A) LU0 Li) B (B) weond iooxo wom 24

(C) seaone amhas vy (D) @raony Soexn R

wo Aoof k Qo ErOmE 2,000 ?Lﬂﬁ‘ﬂ m Ood Qe tom Sy dredzsnngd. S
Eﬁﬁ"’ﬁi:ﬁi:' b &ooos Jatml:ru' s &SNEs Emi!;l' o Lﬁﬂ abmhd. t:ziﬁ ﬁ! e E:E'-’

TYR, SacdEr Trle 33 SR FOMN Y, 8 % E ond. wodnemny udons my

A ghes) gRedecd 93,8 o' Und. Sons vodptuaner Howodaded 1o nE nrsdned

(A) E= L kAZ¢™m (B) m"i‘+bﬂ+kr=ﬂ
2 dr
(C) x=ﬂe“§ cos (@'t + ¢) (D) @' = __.E'i_
m 4m-

LOm0 A0FH, TR T §Q, 908§ 0ud Ju Sl v ShT3E. vt TIRIGY, wao
CER0TY rms SenisY v, SNOIE. Ledodo D sMmnEnen v o v MY BRTIN

BTN X % X' SNchE, Tomed, 3"'{5 BN IR AN 2
(A) |2 . (B) 2 C) 2l D) _3
= ®) 2 © 2 © £

=it} iaun' UR0T Dedthd wlentiuimg driEn R we od gdesriavaths mas
ﬂﬂ%”ﬁ: ZEU Jom ST WRT XoATY, mmmwmhm el

(4) 16x107°C  (B) g3y umes {c]mm{um (D) 3n3,
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1A} 400 wC o el e ) 4P« LR L
N s eDT BDE e G P L SRR i wuGS ST Sabduen
v GG L0t W L Sl e Bofion Sl Sl v
PTG AT BAAE O GRS L PR, e e
Mnewt, O oS




Ly o .2

20 e
4 M 6t [ﬂ 1 {cﬂincfﬂﬂd in series with vy,
) i arc at i
1&' T id aloells each smif2 V and |11lﬂr|'hlt |4_-'-'.I‘|.LPI'|-|'|"-E ted 10 ihe cﬂmh"ﬂatlﬂn 5 the
- ‘_-:|||1..;11,.::1-n:||-,::1, u_:' ":"l. .14.1]1‘; |1:'l e A D £ 10 €1 is conmnc Koy
L i ¥ i EetE gl 5.
Current lhniugh the resistor 7 (C) |8 A [[_ﬂ s
(A) 0.6 A (B) 1.2 A 4B in e following circuit is
35. The equivalent resistance Ih.h\ '1.11 the F"*"m" A nrl ..!-- s .l
L Wi B D e 20 i E 247
Sl i:; r Tan
o7 A 20 {Lj}ﬂ{:"?ﬂ (D) 5.5Q
fA) 0,05 02 B) 502
i yclotron as shown. The charged particle

e , c
\.-5“( A charged particle is subjected to accelerationl in @
undergoes increase in its speed

(A). Inside D,, D, and the gaps (B) Only inside D,
(D) Only inside D,

(C) Only in the gap between D, and D,

The resistance of a carbon resistor is 4.7 k2 + 5%. The colour of the third band is
(C) gold (D) red

57
(A) violet (B) orange
58. The four bands of a colour coded resistor are of the colours gray, red, gold and gold
value of the resistance of the resistor is
(A) B.2Q + 5% (B) 822 + 5% _ (C) 5.2Q £ 5% (D) 82Q) £ 10%
597 A wire of resistance R is cnnnf:f.:tr:d across a cell of emf £ and internal resistance r.
current through the circuit is I. In time t, the work done by the battery to establish
- current | is
. i F, . 1
(B) I°Rt (C) elt (D}

(A) IRt
._ﬁﬂf For a given electric current the drift velocity of conduction electrons in a ﬂﬂpper Wir

and their mobility is u. When the current is inmaseﬂ at constant temperature
(A) v, decreases, j remains the same []E_',} v, remains the same, p decreases

| (C) vy increases, j remains the same (D) v, remains the same, i increases

| Attty o P e e, s TR




55.

56.

57.

L3

TERTTRG 10 demrvey gerd wopod) Socdaestmonnd. micdnocid rl = vl wesy (emf) 2 V
somy wosld dargiodn | 1 ehd), egnivd oo SRl Smh detBmond. 10 O
drepasal) & Jocdmessin Ardnd, rrrr_."d dros E;H._erﬂ.mﬂammr TAcin Sam vl 1

(A) 0.6 A (B) 1.2 A (C) LBEA (D) 24 A

& LE 4 Kl 20

A et i b i i
3
<10 %}[J *:"
[ gty = vV S -

211 I L) 20
(A) 0.05Q (B) 50 (C) 0.50 (D) 550
ooy st osieds sradponay Serlocdmed L LYTRATLRCH) ¥23nd dntdmnd, it

drog e/ e THRCL

(A) D;, D, .9 o3 esayne 1o0:G, (B) D, v.¥rid Sng
(C) D, 33D, n¥ IR0 NoOFY, SR (D) D, t.47id Sing
%O TLF T GRepEn drer 4.7 ki) £+ 5% ©hD. oot e Tioh wey.
(A) Heo¥ (B) &3¢ (C) ug, (D) dod)

Srarzodes aoha CRepE Lot smqaum LEYMIsL LT, doy, uE 083 i Unsl. dregs

:tm«:qﬁataiﬁu |
(C) 5.2Q +5% (D) 8202 + 10%

(A) 8.2Q £5% (B) 8282 = 5%
deerd R B 20dcdaoma (2.09.0) emf & 550 90308 deed r ats Sragpond u@hm

Sodun vl OchF | end, Bt S S st Mwmmm
(A) IRt (B) PRt (C) elt ‘ (D) = t

%umymmmmmmwmamﬂmmmm

p &hd. mmmrmw

(A) v, 88D SIS, § LTRIOIOY, (B) vy WESHTORIOY,, p 30 $Todd
(C) v, Bz, p OIOFOY. (D) Vg WHSRTUROR, | BRMIT
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